1. (a) (Spts) i f(x) =1—x* and g(x) = /x find a formula for (go f)(x).
Give the domain of (go f)(x).
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(b) (5 pts) Which of the following functions are even, odd, neither? Explain your answer

(1) fl)=3+x-x*
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2. Compute the following limits. Each limit is worth 5 points.
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3. Find all the values of the constant ¢ that make the function

h(x)
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continuous everywhere. Graph these functions.
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4. Does the equation x> +3x—2=0 have a root between 0 and 1. Explain.
(Note: A calculator solution is not an acceptable answer.)
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5. A segment of the tangent line to the graph of f(x) at x = 2 is shown in the diagram. Using
information from the graph we can estimate that
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Hence the equation of the tangent line to the graph of

g(x) =5x+f(x)
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6; Calculate the following derivatives. Each derivative is worth 5 points.

Do not simplify your answers.

(a) I f(x) =3~ +* then f/(x) =
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7. Match the graph of each function labelled (a)-(f) with the graph - of its derivative (1)-(6).
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8. A ball is thrown upward at 64 feet per second from a height of 80 feet. In the absence of air
resistance it will have height
he)

h(t) = —161% + 64t + 80 feet.

(a) (3 pts) After how many seconds will the ball hit the ground? /
h(k)=0
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(b) (2 pts) What will the velocity of the ball be 2 seconds er it is thrown?
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(d) (3 pts) How high will the ball go?
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